
 



G = (s+5)/(s*(s+3)) F = feedback(G,1)  

F = (s + 5)/(s^2 + 4*s + 5)  f = exp(-2*t)*(cos(t) + 3*sin(t)) 

  
 

G=10/(1+s)^3  F = feedback(G,1)  

F=10/((s+3.154)*(s^2 - 0.1544*s + 3.487))  

  
 

G=8/(1+s)^3  F = feedback(G,1)  

F = 8/((s + 3)*(s^2 + 3))  f = (2*exp(-3*t))/3 - (2*cos(3^(1/2)*t))/3 + (2*3^(1/2)*sin(3^(1/2)*t))/3 

  
 

  



G=1/(s^4+6*s^3+11*s^2+6*s+2) F = feedback(G,1)  

F=1/(s^4+6*s^3+11*s^2+6*s+3) 

  
 

G=-2/(s^4+6*s^3+11*s^2+6*s+2)  F = feedback(G,1)  

F=-2/(s*(s+3)*(s+2)*(s+1))  f = exp(-t) - exp(-2*t) + exp(-3*t)/3 - 1/3 

  
 

G=8/(s^4+6*s^3+11*s^2+6*s+2)  F = feedback(G,1)  

F = 8/((s^2 + 6*s + 10)*(s^2 + 1)) f = (8*sin(t))/13 - (16*cos(t))/39 + (16*exp(-3*t)*(cos(t) + (3*sin(t))/2))/39  

  
 

  



 

G = 1/(s-1) 

  
 

 


